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402 2I2F X201 & 200,000 200,000
01 QI X2 AL E R (KEHITHE) 200,000 200,000
OHJIZXcIAE =80t A3 A 200,000
HOIE A2TAIE =OME XA 3,202,000 2,402,000 800,000
= 1,096,000
= 1,239,000
Ea 867,000
401 AIEHIX R0 3,202,000 2,402,000 800,000
= 1,096,000
= 1,239,000
= 867,000
01 Al&H| 3,200,000 2,000,000 1,200,000
OHJISAZAE FIHE XA 3,200,000
= 1,096,000
< 1,239,000
= 865,000
03 Al 2CHYI 2,000 2,000 0
OHJISAZAE FIHE XA 2,000
U XIEL=2 4,000,000 1,200,000 2,800,000
= 1,900,000
s 2,100,000
401 Al HIZ R OHHI 4,000,000 1,200,000 2,800,000
= 1,900,000
[Ea 2,100,000
01 Al&H| 3,998,000 1,200,000 2,798,000
OzIEHUUKIEIZ LA 3,998,000
= 1,900,000
= 2,098,000
03 A2 2 0HYI 2,000 0 2,000
OZSHUHKEIZ ZEAIS 2,000
HeEZ SEME XA 53,088 52,000 1,088
101 21AH| 53,088 52,000 1,088
04 JIZtN2Z2XNSE+ 53,088 52,000 1,088
oMl 88 &get 23 53,088
—JlEs 78,9003 x4H 120 37,872
— o x==g 78,9002 x4 H 6= 1,8%4
-5+ 78,9002 x4 x27 8,522
—28= 200,000 x4 H 6 4,800
HY2EGH(BZ A4 27,126 28,152 1,026
=34 27,126 28,152 1,026
Jl=23H] 27,126 28,152 1,026
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FA SFAY
M HYRAZH|(2FPI4L)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 18,450 18,900 A450
01 At2teltl 17,850 18,300 A450
OstZ2dz A 2g 40,000 * 122 480
OAIR4 SAISA 7Y
24,0002 x 102 A 122 «00% 2,592
OAR4 TS M= 90,0008 *105 900
O=ADI & BA 2lls
770,000 * 122 *90% 8,316
Otl2+=sE 13,0002 x20+ 122 *90% 2,808
OARES Fa8l 135,000 * 122 *90f% 1,458
O&=+71, 8371887 gz
120,0003 x 122 x90% 1,296
2 35244l 600 600 0
Ozl & IIE MuNelRs S
50,0002 123 600
202 04dl 4,032 4,032
01 2L AL 4,032 4,032
OR A2 =LY
20,0002 x24H 122 x7(f 4,032
203 gF=4| 4,644 5,220 ADb76
M FA2HLRFAI 4,644 5,220 Ab76
ORA2g g4l 4,644
—JlZ 430,000 122 *90% 4,644
Hees(eZeidn) 1,844,667 1,889, 141 N4, 474
LIS HHXIE 1,844,667 1,889, 141 N4 474
LHE 01 ch 1,844,667 1,889, 141 N4 474
701 JIEHRIHSEES 1,844,667 1,889, 141 N4 474
01 JIEI AN ES 1,844,667 1,889, 141 N4 474
O=H7Y 22 MY 2HIRES 35,932
Osd=H SEXNIMNY 2HIRS= 240,000
OJIEE:3sxcld 28 ZHIREs 1,341,795
—SZINEANE2SNEOI=E2 XLl E) 1,213,795
—SZINEANE2E W=HBIX2 OS2
SEXMelF) 128,000
ON=2=AESAE 28 ZHIRES 226,940
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